e O g &
X .

FH AT I
[07-01-01-05-0001 ]
3 IR 3. 1 . 1. 2
1 —a @2 —a+b 3 ——a+—0»b 4 —a+—>~
4 4 3 4 9
[fizgi ] 3 . 3 .
(1) OoC=—0A=—a
4 4
(@) AB=0B—OA=b-d=—d+b
3 1 . 3
3 CD=0D—0OC=—0B——0A=—b——a
3 4 3 4
3 .1
=——a+—25>
4 3
2 3 . 2 3 . 1. 3 . 1 .. 2 . 1. 2 .
4 OE=0C+CE=0C+—CDhD=—dad+—|—a+—b|=—a——ad+—b=—a+—0>b
3 4 3 4 3 4 2 9 4 9
2 3 2 .
5) AE=OE—-OA=—a+—b—-ad=——a+—>,
4 9 4 9
[07-01-02-04-0001 ]
(—5, 0), 3, —4)

figsi] d=(x, Y) t3é, d+tb=(x, Y)+1tU, 2=(@+1t, y+21)

| ad+1tDh | =/ (X+1)+W+20)° b, £(1)=(@+1)'+y+2t)? L,
F(t)=5t +2(x+2y) t +1*+y*

2(x+2y) T2y \* T2y \’
=54 [+ — [+ - +rty”
5 5 5

r+2y ' Qr—y)’
=5|1+ : + : e, (DI =1 0L%, ME 2/5)°=20 %&%,

x+y Qr—y)*

—1, Xr=—2Y—5 - @ — =90, (21‘—1/)2:100 ...... @
5 5

Lo,

QEQIfAT B L, {2(—2Y —5)—Y}*=100, (—5Y —10)>=100, —5Y —10==+10,

—5Y=*+10+10 kv, ¥y=0, —4 Y=0 OLX, r=-5 Y=—4 DLx, IT=3
LiminT, d=(—5, 0), 3, —4)



BO# MK

ERECF LB H20 [ 2-0000001 ] (20134 3H 8H )

FH AT A

. [07-01-04-05-0001 ]
Bl o
+—b

[(figii]  AOAEIZEWT, AP: PE=S:1-8 &92¢&,

. B L
oP=0—S)a+—8b - @ AOBDIZEWT,
3

.3 o
DP:PB=1:1-1 L¥5L OP=—(0-0)d+tb @
5
EoT, d#0, B#0 o 200~ Md, DITFETTRONE, @, @Gk Hilk LT,

3 1 1 1
1—S=—(1—1) - @, —8=1 - @ O, @FfRHNT, S=—, t=
5 3 2 6
11
L= T, OP=—a+—5b
2 6
[ifi] . OD AP EB 3 AP 2
ARTIADERLIY, ANOAE SEMHED P BIZRBWT, . . =1, —- -— =1,
DA PE BO 2 PE 3
1
a+—>b
AP 3 1 1.
=1 o, OP=——=—qa+—0>b
PE 2 2 6
[07-01-05-05-0001 ]
4l ) Hom @ AHom (1) (2)
N . " . . A A
iFa] X7 MVOKE P OFERIAE, FHS, [ &T5LRD - B,
&5 7RBIRDR Y 310, » A7
WSAB EIChHD & OP=SOA+1!OB, B A B A
= = >
S+1t=1, §=0, t=0 A d
S t
1 s+t=3 rvy, —+—=1
3 3
st S t
koT, OP=—-30A+—-30B —=8', —=1', 30A=0A', 30B=0OB' ¢
3 3 3 3

+5L, OP=S"OA +1' OB’ S +1'=1, =0, t'=0 LEN-T, BH5A B

2 S+1=2 8$=0, 120 Orx, ()EERKIZLT, 20A=0A", 20B=0B" t¥5&, AP
MOA B Bichs, 7, D&y, S+1=3 8§20, 120 Orx, APITRSA B hichs,
X-oT, AA A'B' B ONHRBLOVE L




BO# MK

ERECF LB H20 [ 2-0000001 ] (20134 3H 8H )

0 - B

Hhgy AT A

o [07-01-05-09-0001 ]
1) AZHLET 20N (2) OA%3: 1O T DA L ET 51N
(3) OA%1:20ICNAT BEEA, MBOOIKT ZMFAEB L3258, MA B 2T 50
] 5C(C) BHLET DT OFICHRY MK, M EOEEOEP (D) ET5E, | D—C | =T
7, BAD2EA(Q), BOITBNT, MHABRERETHLE, HCO~Y PRI,

(p—a)-(p—b)=0
2\ D——dAd
2

— 1 — — —= e
3) 3<p3a>- (D—=(=b)}=0 LV, OA%Z1:20IINDTHHEEA", HBBDOOICKT HxFra%

B' L35l oA B ZEELTLHH

I .
p—;a =1 £V, OA%S3: 1O T DA ZHLET5E10H

2 =2,




